26. Liquid Verbs

Lesson in a Nutshell

Liquid verbs have stems that end in A, U, v or p. When these consonants

combine with o, the sigma drops. This oddity occurs in the future and aorist
tense.

A Liquid Form: U€V®
Liquid verbs are verbs whose root ends in A, 1, v or p.
These letters are called “liquids.” They are called this because of the way air flows over
the tongue (A and p) or through the nose (1 and v) when they are pronounced. But no
need to worry about those details.

For now, it is elementary to remember these four letters. That’s:

elementarly

or

Imnry

if you like.

)\, U, Vand

The quirk of these letters is that they do not like to be followed by ¢, so when a
personal ending uses a ¢ after these letters it simply drops.

QUICK QUIZ

Which tenses use a ¢?

(Turn the page for the exciting answer.)
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Future and Aorist!

Tense Clues

Future
/ O before

MO o primary endings

Aorist
augment O,

evOoa secondary endings

So liquid forms affect only the future and aorist tenses.

On your master chart, you will see that | have listed the liquid forms for the verb pévw.

Notice that uévw has a stem that ends in a liquid consonant, v. We could not use AUw
as an example of a liquid verb. Why? Because its stem does not end in a liquid
consonant. On all of the shaded verbs on the chart, notice that we had to use a different
verb (typed vertically in the bubble). AUw won’t work because AVw is perfectly regular.

Imperfect Present Perf Act 2nd Perf Act
augment, present tense stem Present tense stem (lexical form) ication, K T x

secondary endings primary endings brimary act end no
Active Middle/Passive Active Mid/Pass i )
‘I was M: “ was loosing for seif” “I loose” M: “I am loosed for seit” Active Active
loosing”  P: “l was being loosed” P: “l am loosed” “I have loosed" “I have become”
Evov EAvounY « Mo 0 sz).mm - y@'yovu
EAveg £Adon Mderg 07 Aéhvrag 8 réyovag
E\vev EAdeto Ader 0 AEAVKEV = yéyovev
EAdopev EAvopedo Aopev i Aekd E
EAdete eAdecte Mete 0 > Aehdrate =
EAvov eAdovro Adovory : e

Personal Endings

rec
primary active endings

Yeybvaze

Liquid Future Perfect Middle/Passive
A, HVpP, no, . 3 reduplication, no K, no connecting vowel
primary endings primary m/p endings
Active i .
I will stay” “I will stay forsot” M| “ il loose” *I will Ioose forsat” M- “l have :ﬁﬂﬂ
peVe pevoipat Mow Moopot loosed w.‘.:iz:
peveic S pevil Aoelg Mo for self” ¢
Y 5 : : Aedvran
Hevel *g_ peveitot Moer Avoetan
pevodpev  pevoipebo Adoopev Avoopebo [
peveite peveiofe Moete Moece
6. Aorist Passive pevodotv  pevoivion Adoovory Mdoovrar

e
o]
O

=
o

2
®

2

T

=

[]
(]

Tense Stems

P: “l have been Aehdueda
loosed” Aehvobe
AeAvvTan

Liquid Aorist 2nd Aorcihst Aorist Aor Pass 2nd Aor Pass Future Pass | 2nd Fut Pass
3 v, G, augment, stem change oment, G0, augment, augment, 1| 6nc ne
augmsscnonkr];, e iﬁg;o secondary endings 582:;?;;‘, cndir{gs sm,%é’;ry actend semnﬁarv‘ad end primary m/p endings primary m, > p endings
Active Middle Active  Middle Active Middle Passive , passive Passive Passive
“Istayed”  “I stayed or soi” 1 took 3 1 to0kforsel” “Iloosed”  “I loosed for seif’| “ was loosed” e “I will be loosed" “I will be loosed”
fpewa 5 epewapny € S Erapopny Evoa EAvoauny EAvony eypagnv AvBricopon Gmootadicopat
Epewvag > Epeive € ‘g_ EAdBov EMvoag EAdow EADBng fymm’l Adnon dmootod o7
fpewvev S Epeivoro 2 = '}W?W EAvoev erdoarto eAden ~ £ypadn Avonoeton AmoGTaA T ETON
B s , A 3 ENaBope0 Ebooye: oo 3 erdonpey EYpadnpuev AvOnoopedo. anoctadoopedo
Epetvate Epeivaote EAoBete eAdBeabe EAdoate EMdooofe [N K Erdbnte Eypadne Mbnoecte anootadcecte
Epetvay Epetvavo EroBov eAdBovio Evoav erdoavto 5 5 erdbnoav Eypadnoay Avoncovrat AmosTaA T COVTaL

OMOGTEAA®

In this chapter, | will give you a detailed explanation for how liquid verbs behave. Please
don’t get lost in the details. Remember the big picture!

The only thing you need to remember about a liquid verb is that it drops the sigma in the
future and aorist tense because ¢_does not like to follow A, 1, v_and p.
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lts € I eMelta ry, remember?

Let’s zoom in and look at Lévw, a great example of a liquid future.

Mévw: A Sweet Liquid Future

If pévw were not a liquid verb, we would expect the future to look like this:

Future

before
primary endings

Active Middle
“I will stay” “I will stay for seif”
LEVO® MEVGOpLOL

HEVOELG HEvoT
HEVOEL HEVOETOL
UEVGOUEV HEVGOpEBO,
UEVOETE pEVoecBe
UEVGOVUGLY  HEVOOVTOL

Do you see the problem? In each form we have a liquid (V) followed by a o.

But Greeks do not like liquids consonants
to be followed by sigmas!

So they drop the sigma. The result looks like this:

Liquid Future
x, LVP, no
primary endings
Active Middle
“I will stay”  “1 will stay for self”

HEVD 3 REVOULLOL
HEVEIS =  pevil
peveL X peveiton
peEvoDUEV  pevoupefo
UEVELTE HEVELCOE
UEVOVOLV  UEVOLVTOL

Why the strange augmented vowels with the circumflexes? Here is the full explanation
just in case you want to know. (Don’t get hung up on it.)

The actual tense formative for liquid futures is not o but €¢. Here is what happens,
taking the first person plural as an example.
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MEV + EC + OMEV
becomes
UEVECOUEV

But Greeks did not like sigmas to stand between two vowels
(They had issues with sigmas. | think they needed counseling.)

So they dropped the sigma
HEVEOUEV

Do you remember the vowel contraction chart?
€0 becomes ov.

The result is

UEVOUUEV

Too much information? Probably.

You do not need to remember all that. There are only two things you need to remember
to identify a liquid future.

1. After the liquid consonant (A, |, v, or p), the sigma is not used.

2. The endings of the liquid futures wind up looking just like epsilon contract

On the next page,
compare the liquid verb Luévw

with the contract verb mo1éw.
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UEV®
HEV®
LEVELG
HEVEL
LLEVOULLEV
LLEVELTE
LEVOVOLV

TO1EW

TOL®
TOLELG
TOLEL
TOLOVUEV
TOLELTE
TOLOVOLV

How will you be able to tell the liquid futures apart from the epsilon contract verbs?

There are two ways.

1. A liquid consonant will precede the personal ending if it is a liquid future. Notice that
this is not the case with To1£w. )\, M, V and p are your friends! Learn to spot them!

2. When you learn the verb, you will learn that it is not an epsilon contract. The lexical

form is p€vw, not uevéw.

MéEvw: A Liquid Aorist

Since oa is used in the aorist tense, we have a similar collision between a liquid

consonant and a sigma.

We would expect this.

A

r Aorist
augment, OOL,
secondary endings

Active Middle

“l stayed” “l stayed for seif”
ENEVOO, ELEVO TV
ENEVOOG EPEVO®
EWEVOEV ELEVOOITO
ELEVOOYEY epevoaedo
EMEVOOTE EMEVOOGOE
EPEVO OV ELEVOOLVTO
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See the problem?

In each form we have a liquid (v) followed by a
O.

But Greeks do not like
liquids to be followed by sigmas!

So they drop the sigma.

So instead, the liquid aorist looks like this.

Liquid Aorist
augment K,u,v, , o0,
secondary endings

Active Middle

“I stayed” ‘I stayed for self”
:t-?uewa 3 t:aua}vdunv
ELELVOG > ENELVOD)
fpewvev =2 épeivaro
EMELVOpEY  EpELvOpEdo
EMELVOLTE EMELVOODE
EPLELVOLV EMELVOLVTO

Do you see how the sigma dropped out, leaving just the alpha? In the liquid aorists
there are no strange vowel contractions, just a missing sigma.

Instead of
oo
00G
OEV
OOUEV
OOTE
oov

We have
o
ag
eV
aUeV
atTe
o
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But there is one other difference that you might notice.
The vowel in uev became petv
Why?

Here is an answer you need to get used to:

It just does!

There are many things in language that just happen. | suppose there is a long historical
explanation of why. But it is best to just accept it.

As we will see,

Often with the liquid verbs,
there is some sort of vowel change.

No big deal!
We will still be able to recognize them.

Look for basic shapes. Do not insist on exact forms. We are learning to recognize
general patterns. This is the key to the Greek verbal system.

To Summarize
Liquid verbs are verbs whose stem ends in a A, U, v, orp.

When the sigma of a future or aorist tense formative comes into contact with these
letters,

1. The sigma drops.

2. The vowels can do funny things.

That is all there is to the liquid verbs.
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